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This Test-Booklet contains 24 printed pages. Question-Booklet Number
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When you take out the OMR Answer-Sheet placed inside the Test-Booklet, ensure that Question-Booklet Number on Test-Booklet and
OMR Answer-Sheet are same, otherwise get them changed. Please do not mark your answers on this Test-Booklet.

Tt % &9 T T OMR IW-UF & a1l e & q9arq 319 a8 giafved s & foe adeo-qfiaat ik OMR
- H Y- i THM €, ST 3H IS GH o1 T | I 38 TX&I01-JReiehT TR 379 I Rl Sifehd &1 e |

This Booklet consists of 100 questions and carries 100 marks. All questions are compulsory and they carry equal marks. There is no
negative marking.

TG I9-YfEreRT | 100 T € q1 100 3fek & | Feft ye SAfamed § qe 3% ik WHH ¥ | THUTIeeh 9ok TEl & |

Each question has four alternatives (A), (B), (C) and (D). Of these four alternative answers, only one is the correct answer for each
question. Use only Blue or Black ball point pen to answer questions.

W e o o =R faehed (4), (B), (C) @R (D) few w8 | 57 =R ferhedi & 9, Wedish 9o 3 foTq Sherel Teh ST HE1 € | Sheted et 37eral
ThTer STl TS U 1 € S S o ferq s <Y |

All answers are to be marked on the OMR Answer-Sheet only. Mark your responses carefully. Any cutting, use of Fluid, Eraser, use of
Blade, etc. are not allowed for changing the answers and treated as wrong answer.

[ff I I hAA OMR ITR-T3k T &l Fafed i | 3T ST hl HALMHIYE died i | ST TG o [T FHle-Te HiAl ad &I, W,
T T SRS 1 START T off e7gafa 7 ¥ 1 afe W@ foran S &, o S e ST | S |

Candidate will not be allowed to take away Question Booklet rather they will submit it to the Invigilator alongwith the OMR
Answer Sheet.

T Tet SRt UT- YR & ST ekl STTHIA &l &, Siosh 39 OMR ST-US |igd (MHtaTeh ohi HaT 2R |

Candidates will be allowed to carry the duplicate/carbon copy of the OMR Answer-Sheet.

TteTeli Rl OMR STIR-UH hi GiTohe /SIS ShiUT STU |TL & ST ah STTHFA & T |

Open your Test-Booklet seal, only when asked to do so. Contravention of this attracts disqualification.

379 SRl U RTUT-TfhT HieT STol Shal ST, el & WIeT & | 36 FE9T ohT Soeia ohi U¥ 3Te2rell oh ST ohil feam T Wehdl & |

You have to fill the boxes and shade the circle for your Roll Number and Booklet Series in the boxes because this information is essential
for evaluation of the Answer-Sheet.

31T 7Y TR 3T Yfedent et o1 27a9a WY 3R 3 1 el L, Fifh I8 SRR STW-T3 & Yedih & [T STavah ¢ |
Completely darken the CIRCLE so that the letter/number inside the CIRCLE is not visible.

T I TH TG HTel 1 ok g9 B foran ter/ =R e 731

Darken only ONE CIRCLE for each answer as shown in the example below. If you darken more than one CIRCLE, your answer will be
treated as wrong.

I 3T H T STTHR, Fedeh U o ToTl Shafet ek & I ohl hictl i | Teh § 3114k I ohl hietl i TR STTUhT ST TTerd HHT ST |
WrongMethod/WﬁﬁI: @ .) @ CorrectMethod/F@'ﬁﬁI: . @

Signature of Invigilator will be done after all the entries are made by the candidate.
wRaere wianell g 78 Wit wfaftesi % swr & ewme |

Before beginning to answer the questions please make sure that all the entries in your Answer-Sheet have been duly completed. Any
carelessness in this regard may jeopardize your chances of selection.

eI % W I T T8el YA R A o 30 Sw-gs § weft wfaftest fEemgar S yor R S €1 3 ot Yohr i aroRamel 9
TR T T ST O el B |

Do not spend time on reading all the questions before beginning to answer them. Try answering the questions one by one and
wherever you are not sure of the answer, pass on to the next question. Time permitting, you may again tray the left out questions
after completing the whole test.

I AT AT HH © Y G YIT-U UG BT WATH 7 SR | TR U9 SR 37X 31T WX STTEAT Y9 i | O Y9-UF il o
g THT & UF 37 P §U U9 YA: Y ehel £ |

Do not talk to or consult with other candidates. This will lead to disqualification.

T ard e faem-famst T | ST=rem ueht SEteaTl TuTe e &f STe |

Do not carry any electronic gadgets or cell phone during the test. Possession of any such equipment or cell phone will lead to disqualification
of the candidate from the examination.

TReT o SR feRslt off TohR skt SeiaifTeR TIfSTe (gadgets) SToTaT TeT I o SIHT 01 © | Ut TSRt oft WohR ol W18 (equipment) 31era T
T I @A W IFIGAR &1 T SR feam e |

Use of unfair means during the examination will lead to disqualification of the candidate.
e & A SAfd TEF 1 TART T TR STHIGIR i 37817 IR e S |

In case of variation of any kind in the English and Hindi version of any question(s), the English version will be considered as final.

forddt oft w7 (TwHl) o TS ud fewsl g B fordt oft JohR o1 37 21 W STiSTt g ol foTiereh T S |
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Choose the figure which is different from the rest.

31 9 e o o1 == sifsn)

ol [l )

(a) ) B ©) © 0 D) (¢

The average weight of 16 boys in a class is 50.25 kg and that of the remaining 8 boys is
45.15 kg. Find the average weights of all the boys in the class.

Rt ham H 16 TSl 1 3Td YR 50.25 foh. 7m0 § qen 919 8 el 145,15 fR.U™ T 1 el § Fa
TEh! T ST YR 1T HIfT |
(A) 48.55 (B) 42.25 (C) 50 (D) 51.25

Amit started cycling along the boundaries of a square field from corner point A. After half
an hour he reached the corner point C, diagonally opposite to A. If his speed was 8 km/hr,
what is the area of the field in square km ?

HI0T A H fqa foRet vt o) HiHn & T Hisfohet Tt SRS a1 § 1 oY S % U9 foeuig A
¥ faudia o1 C W U= &1 Al STh! =1 8 fam.d. /=iar oft <t o 1 & ot fopolt, ® 9
IS |

(A) 64 (B) 8 C) 5 (D) 4

Choose the figure which is different from the rest.

SN

(a) ) B) 2 © 0 D) )

What is essential to a Contract ?

(A) agreement (B) document (C) written (D) attorney
Contract & T =1 T9ae &2
(a) Tt (B) =frr= © R (D) werd
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6. If the area of a square is 784 cm?, the length of its side is :

Ife ferglt =t 1 &sThet 784 o WH, €, 1 SHRT YIS K1 AT BT
(A) 22 (B) 28 ) 32 (D) 38

Follow for questions 7 to 9 :

A, B, C, D, E F and G are sitting in a row facing North :
. F is to the immediate right of E.

. E is 4t to the right of G.

. C is the neighbour of B and D.

. Person who is third to the left of D is at one of ends.

o : q97 78 9:

A, B,C,D,E, F3iRG W &t 3R & &k Th Ui H a3 T -
« FE®J& T

¢« EGHIEAI WA WE

«  BAUIDH TS C R

. B A S D% T A T W ¥ R T SR W

7. Who are the neighbours of B ?

(A) Cand D (B) Cand G (€©) GandF (D) Cand E
B 1 YSIE! i & ?
(A) CTaHD (B) CdauG (C©) GTUAF (D) CdAAME

8. Who are to the left of C ?

(A) OnlyB (B) G,Band D (€) GandB (D) D,E Fand A
C% o A €2
(A) Had B (B) G, BAaD (©) GdarB (D) D,E FaamA

9.  What is the position of A ?

(A) Between E and D (B) Extreme left
(C) Centre (D) Extreme right
A I T 2

(A) EQUI D &4 (B) 3fqw e

(C) = (D) sifem T
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11.
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[4]
MIRROR : GLASS : :
(A) Music : Violin (B) Match : Matchbox
(©)  Shirt : Cloth (D) Air : Flow
A0 ;T
(A) Eid : srEfed (B) wifag : Aiferd sl Tssit
(C) HHIS : wUel (D) g : 9am®

X) (Y) 2)

A cube has six different symbols drawn over its six faces. The symbols are dot, circle, triangle,
square, cross and arrow. Three different positions of the cube are shown in figures (X), (Y)
and (Z). Which symbol is opposite the dot ?

(A) Circle (B) Triangle (C) Arrow (D) Cross

Teh o Tt B: TeTehl W B: T Gerd SYR T3 ¥, 9 Geha & farg, 99, T, o, spie qen iRy
39 51 & < T feafaat (X), () 7o (2) @i w= E ) faeg % faad e A Sehd 8 Sk €2

(A) T (B) s (©) TR (D)

Which of the following organisations deals with human rights issues ?

(A) Amnesty International (B) Doctors without Borders
(C) Red Cross (D) None of the above

11 & A 91 WS AFeTfeR qE | Geifyd €2

(A) THE! T=HIAA (B) diEH % IR eleed

Q) YT g (D) SH= # &S o T

‘Sea’ is related to ‘Ship” in the same way as ‘Road’ is related to :

(A) Traffic (B) Travellers (C) Journey (D) Bus
‘Thg’ 1 Gy SRS 9 T 39 TR (Hesh | Wl ey g7l
(A) IR (B) =i (C) Im (D) «®
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15.

16.

17.

18.

Where is Bhimtal Lake ?
(A) Arunachal Pradesh
(C) Uttarakhand

el gfiet el ® 2
(A) ITEUEE ToW
(C) TGS

Anatomy deals with :

(A) Structure of animals and plants

(C) Animal behaviour
TER-To1 o ol Geler ©
(A) YTOft FAT qISHl o S |
(C) it SRR |

Assam
Himachal Pradesh

ferraer gew

Human cells

Reproduction

M4 IR 9
IS o

Find out the alternative figure which contains figure (X) as its part.

39 fasheq fo=t 1 qar avme o fo (X) 39 i & &9 ¥ faemm 7

5

X) (1)
A @ B) (2

Complete : 4, 6, 9, 13, ?

WHIT: 4,6,9,13, 2
(A) 15 (B) 12

Snow leopard is found in :
(A) Rajasthan

(C) Uttar Pradesh

fom wefta <fiar e < g
(A)  TSEIEH

(C) SWIUWH
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20.

21.

22.

23.

24.

[6]
Who is the Chairman of the National Disaster Management Authority ?
(A) Prime Minister of India (B) President
(C) Home Secretary (D) None of the above
TG SAT9eT Yoo IR & 318987 i © 2
(A) 9RA & Ju™ =l (B) Tsgufa
(C) & Hf== (D) SWIH H IS off Tl
Shalimar Bagh was constructed in Kashmir by :
(A) Humayun (B) Shahjahan
(C) Jahangir (D) None of the above
HYH H AR o <61 o7 fere feman ?
() EL (B) eI
(C) R (D) 3R | g Tl
Where does the annual World Economic Forum Conference take place ?
(A) Brussels, Belgium (B) Davos, Switzerland
(C) New Delhi, India (D) None of the above
FeE TG I St THIeH a8l arr & ?
(A) FHIH, dfesam (B) <@, Wiesie
(C) e feoedl, vrRd (D) W § &g ot T

Shakthi ranks eleventh in a class of 54 students. What is his rank from last ?
54 BET Y Teh hal | wferd 119 TH W Hefl & Fd T SHR TE T ¢
(A) 43 (B) 44 (©) 42 (D) 40

The recent “2+2" Dialogue was between India and :

(A) Russia (B) China (C) Japan (D) USA
B B H 2+2 SN YRA ql % ST ol
(A) w9 (B) = (C) SuH (D) 4.THT

Instrument used to measure electric current :

(A) Hygrometer (B) Ammeter

(C) Galvanometer (D) None of the above
foRa IRT W9k 1A © :

(A) RS (B) THIX

(C) TR (D) SR H | &g o &
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25.

26.

27.

7

Facility under which any public-spirited citizen or social organisation can move court for
enforcement of rights or any person or group who are unable to approach the court for
remedies due to poverty or socially disadvantageous position :

(A) Lok Adalat (B) SLP

(C) PIL (D) None of the above

T gfaen e Siata dre-dal 9 S[el &g ot ArRen steran wmifsieh WieA fohdt ot =Afaa steran
g S TS SAqd WIS Yfdehel STereell o hul Shie T8l ST Hehd, o foIT qe1 3ok ATRRI
87T & IS S IHAT &, T :

(A) % ST (B) TH.UAM.
(C) R (D) WK H IS off Tl

Shravanabelagola is situated in :

(A) Punjab (B) Karnataka (C) Kerala (D) Tamil Nadu
g feord  :
(A) dHSEH (B) e H (C) e H (D) dfuerrg |

In the figure given below, square represents doctors, triangle represents ladies and circle
represents surgeon. By which letter the ladies who doctor and surgeon both are
represented ?

e fomr &, ot ‘el o1, Broget ¢ wfeensdl w1 amgw TS FRRG @ g1 e A e @
318 I Higetatl <l & S e & SYg-a1 goid off T 1

AN o
N
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28.  Which scheme aims to link higher education institutions with rural India to contribute to its
economic and social betterment ?

(A) Saakshar (B) Unnat Bharat Abhiyan

(C) Swavlamban (D) None of the above

amfefer qen Grfetes Seadt & fore S= foven Wl <1 UEoT RG | e TR Ao 1 @ed § 2
(A) HBR (B) IeId YRA HAYFH

(C) wEaaw (D) SHIH H IS off Tl

29. India shares the longest border with :

(A) Bangladesh (B) China (C) Pakistan (D) Nepal
URA 1 o vl T fomd 91 o Ty § 2
(A) SR (B) = (C) TrfeREa™ (D) U

30. On which river is the Bhakra-Nangal Dam situated ?
(A) Chenab (B) Sutlej (€) Ravi (D) Ganga
TRT-Te aire fohe S W feerd 72

(A) ferE (B) HdoTSl (C) Ufa (D) T

31. Komagata Maru is associated with :

(A) Indian National Army (B) Paris India Society
(C) Ghadar Party (D) None of the above
HIFT HIE Folg ¥ :

(A) ST fe wis | (B) Wiu-feg w9 €
(C) TR A (D) SHI= # &S o &

32.  Which river is also known as Dakshin Ganga ?

(A) Krishna (B) Godavari (€) Kaveri (D) Periyar
for et =t <feqor i off e e @ 2
(A) Fom (B) TR (C) el (D) URER
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33.

34.

35.

36.

37.

38.

[9]

The #MeToo movement is associated with :

(A) Supporting farmers (B) E-commerce frauds

(C) Fake news cases (D) Sexual harassment cases
“#MeToo "' STire fored o1 72

(A) Tram wmedq (B) E-afusy dranere

(C) erelt FHER HeT (D) I It i we

Name the tree from which the finest cricket bats can be made.

(A) Eucalyptus (B) Willow (C) Banyan (D) Chinar
GXaH Tohene s 99 981 9 971 § 3HeR M © -

(A) ThHfaed (B) feret (C) == (D) forr
The bronze image of Dancing Girl belongs to :

(A) Ashokan Era (B) Kushana Era

(©) Indus Valley Civilisation (D) Vedic Age

T e T

(A) I T (B) FITH

(C) fHy = gezar & (D) afcwH g d

Choose the word which is different from the rest.

(A) Happy (B) Delighted (©) Annoyed (D) Elated
I | e sg 1 =7 hifoy |

(A) gt (B) eFfed (©) s (D) W
Mahatma Gandhi was in which country before coming to India ?

(A) USA (B) South Africa (€) UK (D) Germany
R ST 2 g e e R 2w 917

(A) JTET (B) TfHw swlsm  (C) ALK (D) ST

This river is called Tsang Po in Tibet and Jamuna in Bangladesh. Name this river.

(A) Kali (B) Teesta (C©) Brahmaputra (D) Ganga
o 1<t 1 fosera o @i 01 IR TRy § TYAT el Sl § 1S9 el 1 AW Sy |
(A) Tt (B) & (C) o= (D) T
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39. Choose the correct mirror image of the given figure (X) from amongst the four alternatives.

ot =R fereredi & @ fost (X) o1 @@t gdur wfafemsr i)

(a) () B) 2 © 0 D) )

40. If the radius of a circle is 32 cm, its circumference is :
(A) 204.06 sq. cm. (B) 201.06 sq. cm. (C) 200.04 sq. cm. (D) 206.02 sq. cm.

afg freht g =1 o 32 Q.. &1, & saeet affy St -
(A) 204.06 3 €.H. (B) 201.06 1 GH. (C) 200.04 I AH. (D) 206.02 = HA.H.

41. Select a suitable figure from the four alternatives that would complete the figure matrix.

IR foedl # 9 T U o ol AT ST e o ol 90 T |

x| 2
<O  |O0|a

42. Largest Lok Sabha constituency (area wise) :

(A) Ladakh (B) Barmer (©) Tawang (D) Kutch

& o fedme @, <l T 1 Tl =21 g9 & ¢

(A) IE™E (B) W (C) daim (D) &=
43. World’s largest and fastest growing delta :

(A) Nile delta (B) Sunderban delta

(C) Mahanadi delta (D) Amazon delta

forva o1 G sre1 a1 asit 9 Thetdl ger i W ¥ ?

(A) et Yert (B) F=IT Het

(C) ™S Her (D)  STHSH el
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45.

46.

47.

1)

Who was the Chief Guest for Republic Day of India 2018 ?

(A) Barack Obama (B) All ASEAN Heads of State
(C) All SAARC Heads of State (D) Abu Dhabi Crown Prince
a9 2018 H UGS feod W 9RA & geA fafy o ¢

(A) = Sl (B) TRMM & A+t Tsareas

(C) HTeh & | ToATeas (D) 3T 4Tl o ot

Two positions of a block are shown below. When six is at the bottom, what number will be
at the top ?

fopredt <ctter ant 2 Tearfaal & ot €1 w9 et aa1 H 6 fagd €, @ 59 Sudt 7 § fagel &1 gen

Count the number of triangles and squares in the given figure.

(A) 28 triangles, 10 squares (B) 28 triangles, 8 squares
(©) 32 triangles, 10 squares (D) 32 triangles, 8 squares
SR fo= # Faysi aen at ot fHdt it

(A) 28 1y, 10 =t (B) 28 Ty, 8 =i

(C) 32 g, 10 = (D) 32 Ty, 8 &t

There are 10 hens in a barn. Out of them 2 are diseased. Three new healthy hens come into
the barn. Then probability that a diseased hen is picked up at random from the barn is :

Teh TR B 10 gifar € o < h gitfar § 1 e # i 2 sy gfitat ol e €1 s
Y Agfessh GR W Tah M T ol I i Tifdehdl o1 BT 2
(A) 2/12 (B) 2/13 (C) 2/14 (D) 2/15
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49.

50.

51.

52.

53.

[12]

Complete : A, D, I, P, 2.
fe s @sisT: A, D, LP,__ 2

(A) Q (B) R © s (D) Y

Name the tiger capital of India.
(A) Nagpur (B) Bhopal (C) Kolkata (D) Ranthambore

YR o TR hiqeed 1 99 IdEd |
(A) AR (B) HMI™A (C) hIcThral (D) TR

Which country contributes the largest number of personnel to the UN Peacekeeping
Forces ?

(A) USA (B) China (C) Bangladesh (D) India
Y. TH. % Ted ifd e HEH W § HF 91 <9 FaY 9 el § o9 df ek G5 72
(A) FTWET (B) =M (C) @iy (D) “wRd

World Food Day :

(A) August 15 (B)  October 16 (€) January 2 (D) July 14
foreer @ oo -
(A) 15 3T (B) 16 3R (C) 2 St (D) 14 JoE

Ten years ago, the age of mother was three times the age of her son. After ten years, mother’s
age will be twice that of his son. Find the ratio of their present ages.

10 39 q& foRlt AT Sl 371 3Hh T i 3T i TR[UR off | 10 T SIS HIAT 1 3T 39k T3 i 71
T AN BT | S AU ST T ST € ¢
(A) 8:5 (B) 9:5 ) 8:7 (D) 7:3

The ratio of the present ages of P and Q is 3 : 4. Five years ago, the ratio of their ages was
5 : 7. Find their present ages.

(A) 30, 40 (B) 40, 45

(C) 50, 54 (D) None of the above

P Q1 Q o IHM 3T 1 31U 3 : 4 § | 1= I Ydl Sk ST 1 STUN 5: 7 91| STh! IdHM 37
EREdiE

(A) 30, 40 (B) 40, 45

(C) 50, 54 (D) SulEd H g off &
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55.

56.

57.

58.

[13]
Energy of food is measured in :
(A) Watt (B) Celsius (C) Calories (D) Kelvin
T Sl T S R
(A) aeH (B) fcoma | (C) Fais o (D) hfeam #
What is the full form of UPI ?
(A) Unit Price Index (B) Union Portal for Information
(C) Unified Payments Interface (D) None of the above
?11?[341% ol Tﬁ fomr 2
(A) I IEE e (B) 7 didd W shHTE
(C) IFFES Ty T=IHT (D) W= § &5 of T
If C+D=16 and D+ E=14, then the average of C, D and E is :
(A) 16 (B) 14
) 12 (D) Cannot be determined
4f¢ C+D=16 91 D+E=14, 7 C, D T E s 3% 81T :
(A) 16 (B) 14
(€ 12 (D) Truifed 7&f foran ST weren

Indus Water Treaty is an agreement between :

(A) India - Bangladesh (B) India - China
(C) India - Pakistan (D) India - Nepal
ey <ot Gifr gugian o <1 <ol & = §72

(A) R - TR (B) 9Rd - =M
(C) WA - difeR&d™ (D) WRd - Jured

Rohingya issue is associated with :

(A) Bhutan (B) Indonesia

(©) Myanmar (D) None of the above
feran ey forad o1 82

(A) e (B) MR

(C) TR (D) S H FiE off &
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59. Name the project aimed at holistic development of villages along river Ganga.

(A) Namami Gange (B) Ganga Gram
(C©) Clean Ganga (D) None of the above
foher afTST 1 3w T A & TR = Tiiall o1 Tegol foehre o € 2
(A) w7 (B) TmUM
(C) AT (D) ST H 9 H5g ft Tl
60. How many 5 digit numbers can be formed from digits 4, 5, 6, 8, 9 assuming no digit is
repeated ?
4,5,6,8, 99 3 ikl i for TR & 5 i & foraT HEATd ST T Gehell € 2
(A) 110 (B) 130 (©) 120 (D) 140

61. Which Indian Navy vessel circumnavigated globe with all-women crew ?

(A) INSV Durga (B) INSV Ranvir

(C) INSV Yuva (D) INSV Tarini

AT el sl ford o1 3 e7aft weft-—feet & o @1 geall shi 9fisRaT i ?
(A) STETATEHR. g (B) STME.TATH. TER

(C) STR.TATHEE. Jar (D) STE.TA.TE.E. il

62. Identify the figure that completes the pattern.
FIqHM 1 U A aTel T 1 T8aH hitad |

? AAR SIS
1) )

@) 3 (4)
A @ B) (2 © G D) @

63. Buddhist prayer halls were known as :

(A) Sanghas (B) Basadis (C) Viharas (D) Chaityas
g 1 e e HEE ¢
(A) §H (B) =&l (C) faer (D) =
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64.

65.

66.

67.
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Style of garden that became popular during the Mughal era :

(A) Walled garden (B) Chahar Bagh

(C) Khula Sama (D) None of the above
SR S TSl STehRIel | i gt of

(A)  foret &g 3T (B) =R M

©) gars (D) ST S o &

Choose the alternative which is closely resembles the mirror image of the given combination.

=1 99 & waifaes e gdu yfafstsr o1 g9 ol faseg 1 =91 ifsa)
FIXING

o GNIXIF @ 3JIXInO © DUIXIF « IUIXIA
VNG ®) (@ © 6 (D) @

() (i)

Two positions of a dice are shown above. When number 1 is on the top, what number will be
at the bottom ?

(A) 2 (B) 3

€ 5 (D) Cannot be determined

ot T =t 2 fearfael < wi €1 W9 Hem 139 99 | @ A sHe e 99 ¥ S g
ST ?

(A) 2 (B) 3

(C) 5 (D) freifa &f foha S wehett

Express 1 hour 36 minutes as the percent of 2 hours 40 minutes.
1 %21 36 TaAE, 2 w2 40 fae o1 foham wfaem €2
(A) 50% (B) 60% (©) 70% (D) 80%
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e
68. If the cost price is 25% of selling price. Then what is the profit percent ?

Ife ANTd iHd, Taa g &1 25% 2, a1 <Y 9fa9d 80 ¢

(A) 100% (B) 200% (C) 250% (D) 300%

%,

i 9 @ & O

Choose the box that is similar to the box formed from the given sheet of paper (X).

69.

(A) (1) only (B) (2) and (3) only

(©) (1) and (3) only (D) (1), (2) and (4) only

feu 7T & 3fte (X) 9§ FfHa s & gasy afe s =997 fasked § i
(A) e (1) (B) Fad (2) 3R (3)

(©) Faa (1) 3R (3) (D) &9 (1), (2) 3R (4)

70. Select a suitable figure from the Answer Figures that would replace the question mark (?).
S| fo ¥ | s 3fea fo gfte < woen o & wea g (2) =01 gfoeenfia o
Problem Figures/HHEA1 IER Answer Figures /3t IER

OB ? | [H[ DD

(A) (B) ©) (D) (1) (2) ®) 4) ®)
a) () B) 2 © 0 D) )

71. If A+B=12and A—B=2, find A and B :
e A+B=12TMA—B=271 A 3 B & HH B :
(A) A=9, B=3 (B) A=8, B=4 (C) A=10,B=2 (D) A=7 B=5
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72.

73.

74.

75.

76.

77.

7
Choose the antonym (opposite) of fraudulent :

Fraudulent &1 faudiarefe ¥ :
(A) Candid (B) Direct (C) Forthright (D) Genuine

Choose the synonym (same meaning) of stringent :
Stringent T YUY T :
(A) Dry (B) Strained (€) Rigorous (D) Shrill

In a flight of 600 km, an aircraft was slowed down due to bad weather. Its average speed for
the trip was reduced by 200 km/hr and the time of flight increased by 30 minutes. What is
the duration of the flight ?

(A) Y2 hour (B) % hour (€) 1 hour (D) 2 hour

600 fob. . =t 3eM § WE Hraq & HROT fohdl TaTs SeTsT i =16 Sl T HTN ISl § | 39 fog
TROTE: SHhT e =Tet 200 .. /5§ e S § 991 S 1 99 30 fie § 9g S ¥ 1 3
it STl T ¥ 2

(A) V2 (B) ¥ E&A (C) 1% (D) 2%

Complete : 1,2,3,1,4,9,1, 8, ?

WHET: 1,231,491, 8 2 .
(A) 24 (B) 25 (C) 26 (D) 27

The rules of the Buddhist Sangha are mentioned in :

(A) Sutta Pitaka (B) Vinaya Pitaka

(C) Abhidhamma Pitaka (D) None of the above
Sig 9 o F1Hl o1 Seore o ©

(A) 9 foes ¥ (B) foma faes o

(C) Aty fyesk d (D) Sul H g off &

Which part/parts of India was/were under the French ?

(A) Pondicherry (B) Chandernagar
(C©) Bombay (D) Both (A) and (B)
I 1 i | AT S ok e e ?

(A) WERRT (B) T=TR

() = (D) (A) Ten (B) i
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78.

79.

80.

81.

[18]

When this number is added to 323, the new number becomes divisible by both 2 and 3 find
the number.

ST 39 G 1 323 W el ST €, aikonme HeAr 2 9o 3 | fanfe St € 9 g ©
(A) 2 (B) 5 © 6 (D) 1

Which of the following diagrams indicates the best relation between Parents, Mother and
Father ?

T fyan, wrar e fyar 3 g T § - fas wd 82

(4) (®) © (D) @ O

Steve Jobs was associated with :

(A) Apple Inc. (B) Google

(C) Microsoft (D) None of the above
e e e 1 €2

(A) T (B) T

(C) TR (D) IHIH H IS off Tl

Choose a figure which would most closely resemble the unfolded form of Figure (Z).
st (2) & Gol fo31 & Faiifye Gfeehe A fHerar-Serar fos <61 =74 S|

(X)
N4
N N
7 r d
1) (2) (3) 4)
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82.

83.

84.

85.

19

A’s son B is married with C whose sister D is married to E the brother of B. How D is related
toA?

(A) Sister (B) Daughter-in-law

(C) Sister-in-law (D) Cousin

A F1 I3 B, C ¥ faanfea & f@et s D, B & 9 E 9 foenfed €1 D fovd vk A & Heifia 82
(A) = (B) =

(C) et (D) == 9E

Who was the ruler of Mysore before it passed into the hands of British ?
(A) Tipu Sultan (B) Haider Ali

(C) Wodeyar (D) None of the above

SIS o ATHRR H M & ol HE 1 AEH i o172

(A) &Y g™ (B) &R el

(C) Te: (D) W H w5 off Tl

If A $ B means A is the brother of B; B * C means B is the son of C; C @ D means C is the wife
of D and A # D means A is the son of D. How C is related to A ?

(A) Maternal grandmother (B) Maternal aunt

(€) Aunt (D) Mother

ACASBI AR, A, BRI MESI B*CH IS, B,CH AT C@D H 314 §; C, D I et
TAMA#DF AT A, DR YA, A CH A T 1 eyl 72

() (B) WA

(C) == (D) =

Ramesh, a fruit-seller, sells 5 varieties of fruits. The prices are given below. Find the average
value of his stock.

Teh el TeIshal THY i Toreq & Fedl ol Torsha shedl @1 <19 e €F T 1 SEeh Wi &t SfEd
Hed 1 I |

Fruit / et Apple /@« Banana / e | Litchi / feT=eit| Papaya /9diar |Chiku/ ﬁ@‘
Price per unit/ 20 5 5 40 10

i SeRTE ohl hivd

Quantity /AT 10 12 30 5 15

(A) %8 (B) R85 (€) 93 (D) %97
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86.

87.

88.

89.

90.

[20]

Sam walked 10 m towards West from his house. Then he walked 5 m turning to his left.
After this he walked 10 m turning to his left and in the end he walked 10 m turning to his

left. In what direction is he now from his starting point ?

(A) South (B) North (C) East

(D)

West

v 310 =R | ufeem ot 3R 10 H. TR 9 g1 € IR 5 H. Tl €1 35 UvErd 98 9 e

10 Y. =reTan € qen ofd H a1 geek 10 W, wordr ¥ 1 o1eft o etifiren T 9 o famn A ®2

(A) e (B) S® © T

Identify the figure that completes the pattern.

GITHH ! QU L Al Fo 1 989 HifaT |
DIEE —
®| 2 &| || || |EE

A @ B) (2 © ©)

Sri Narayana Guru was a social reformer from :

(A) Calcutta (B) Bombay (C) Tamil Nadu
TOTS GUR A AR & el o et &2
(A) el (B) g (C) dfHerrg

Which state recently introduced electric cars for official use ?

(A) Rajasthan (B) Mizoram (C) Jharkhand
T & 1 forg T 1 afuemfi ST & fau seifaes R =@ ?
(A)  TSEIH (B) fHSIH (C) wrEe

Triratnas were given by :

(A) Manu (B) Patanjali (C) Buddha
iR ot 37 272
(A) =g (B) sttt © 95
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91.

92.

93.

94.

95.

[21]

In a class there are :

(a) 25 students who play Kho-kho

(b) 36 students who play Badminton

(c) 8 students who do not play any of the two games
(d) 13 students who play both Kho-kho and Badminton
How many students are there in the class ?

Teh hell §

(a) TI-T e aret 25 B § |

(b) S Ber 9 36 B |

() R f U 7B 9 8 BHA B

() T-@ a Sefied gHl g arel 13 B ¥ |

& T BE ot fohat @ g2

A) 71 (B) 68 (©) 84 (D) 56

What percentage of the world’s surface is covered with water ?

forga =1 feram wfaerd v ST @ 9 B2
(A) 70 (B) 60 (C) 45 (D) 90

Name India’s first satellite.

(A) Banabhatt (B) Varahmihira  (C) Mahavira (D) Aryabhatta
IR h1 Tl HEeEE ©
(A) SoTE (B) oRIEHER (C) wRER (D) e

Find the number of triangles in the given figure.

= o= # sl o6t S 9 it

(A) 23 (B) 27 (C) 29 (D) 31

Who is the guardian of public purse in India ?

(A) CAG (B) Estimates Committee
(C) Finance Commission (D) None of the above
WG U ek W1 % 1% A g 2

(A) HLTs. (B) ke wfHfd

(C) faa smm (D) W= § &5 o T
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96.

97.

98.

99.

100.

[22]

What are the floor designs made with white powder on wet ground in South India called ?

(A) Pietra dura (B) Utayan (C) Rangoli (D) Kolam
Sfeqor wRd B 79 ft W e =0l § SR ST aren W fesed R e €2
(A) AT (B) S (C) e (D) e
Jamdani belongs to :
(A) Manipur (B) West Bengal (C) Tripura (D) Uttar Pradesh
S T HeY B
(A) TUTQRH (B) WREmET@E (C) Fgud (D) SWYWH
What was the name of Akbar’s revenue system ?
(A) Zabt (B) Khair
(C) Iqta (D) None of the above
3eheI o 371 WOITeAT =T AITH =1 o1 ?
(A) = (B) ¥
(€ = (D) Swie H h1g i el
Khapa-chan (snow land) is another name for :
(A) Ladakh (B) Tawang
(C) Kanchenjunga (D) None of the above
TU-=F (FRieh i) forde am g2
(A) WETE (B) T
(C) Hasi (D) IR H & ot T
The Election Commission does NOT conduct the elections to :
(A) President (B) Panchayats and Municipalities in States
(C) Vice President (D) All of the above
AT AT fohEeh AT BT Gl &l hid ?
(A) Tgfd (B) THl o U= q1 TRUTfTeRIet
(C) Iregafd (D) ST |t
-00o0-
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